



Handwritten Notes On Binomial Theorem





- * Binomial Expression: An algebraic expression consisting of two teams with the or -ve sign between them is called a binomial expression.
- # Binomial theorem for positive antegral index: $(x+y)^n = nc_0 x^n + nc_1 x^{n-1}y + \dots + nc_r x^{n-r}y^r + \dots + nc_n x^o y^n$ $(x+y)^n = \sum_{r=0}^{n} nc_r x^{n-r}y^r$
 - $(x-y)^n = \sum_{n=0}^{n} (-1)^n n_{e_n} x^{n-n} y^n$
 - $(2+y)^{n}+(2-y)^{n}=2\{x^{n}+n_{c_{1}}z^{n-2}y^{2}+n_{c_{4}}z^{n-4}y^{4}+...\}$ = $2\{sum\ of\ terms\ at\ oold\ places\}.$ The last term is now in a yn-1

The last term is nay or non-say n-1 according as n is even or odd.

• $(x+y)^{n}-(x-y)^{n}=2\{n_{1}x^{n-1}y+n_{2}x^{n-3}y^{3}+...\}$ = $2\{Sum of terms at even places\}.$

The last term is non-1 xyn-1 or nonyn according as n is even or odd.

• $(1+x)^{n} = \sum_{r=0}^{n} n_{C_r} x^r$ • $(1-x)^{n} = \sum_{r=0}^{n} (-1)^{r} n_{C_r} x^r$

- * Properties of Binomial Expansion (2+y)n:
 - i) There are not terms in expansion.
 - ii) no = non-n ie the coefficients of the terms equidistant from the beginning & the end in a binomial expansion on equal.
 - ii) for each term sum of indices of a by to equal to n.

* General Term: Tr+1 = (8+1)th-lerm = hcm x n-ry r * pth term from end: pth term from the end an (asy) h is (n-p+2)th learn from the beginning. * Middle Terms: a) When n is even: The (1/2+1)th term is the only one middle term. Ty2+1 = hcy2 x 1/2 y 1/2 b) When n is odd: $(\frac{n+1}{2})^{+h} + (\frac{n+3}{2})^{+h} + lenms are$ two middle terms. * Gordest derm: To+1 = n-10+12 Let numerically Tots be the greatest term. $\frac{T_{\sigma+1}}{T_{\sigma}} \geqslant 1. \Rightarrow \gamma \leq \frac{(n+1)}{(1+|\alpha|)} |\alpha|$ LEARNING (1+|\alpha|) n, a substituting, m= m+f or m=m. m & tre integer & f is fraction (0<f<1) If m & m+f, Tm+1 is the greatest. If m & m, Tm & Tm+1 are greatest, & both one equal. • Finding greatest term in (24y)". Since, $(2+y)^{N} = \alpha^{n} (1+y_{n})^{n}$ Then, find the greatest term in (1+1/x). 1 Greatest Coefficient: If n is even, then ncn/2. If n is odd them " (n-1)/2 &

h_(n+1)/2.

* Properties of Binomial Coefficients:

In the expansion $(1+x)^n$, the coefficients one n_{C_0} , n_{C_1} , ..., n_{C_m} , ..., n_{C_m} , n_{C_n} (by $c_0, c_1, c_2, \ldots, c_n$).

- 1. The sum of the binomial coefficients in the expansion of $(1+x)^n$ is 2^n . $c_6+c_1+\cdots+c_n=2^n$
- 2. The sum of the coefficients of odd terms for the expansion $(1+x)^h$ is equal to the sum of the coefficients of the even terms in both is equal to 2^{h-1}
- 3. $C_0^2 + C_1^2 + C_2^2 + \dots + C_n^2 = 2n_{C_n} = \frac{2n!}{(n!)^2}$
- 4. $C_6 c_m + C_1 c_{r+1} + C_2 c_{r+2} + \cdots + c_{n-r} c_n = {2n \choose n-r} = 2n!$

LEARNING (n+r)! (n-r)!

* If $(\overline{A} + B)^n = I + f$ where I + d in are +ve integers, in being odd $d = 0 \le f < 1$, then show that $(I + f) f = k^n$ where $A - B^2 = k > 0 + k$.

TA - B < 1.

When n is even, (I+f) (1-f) = Kn.

Multinomial Theorem: If n is +ve irrleger λ $a_1, a_2, a_3, \dots, a_m \in c \text{ then}$ $(a_1 + a_2 + \dots + a_m)^n = \sum \frac{n!}{n_1! \; n_2! \; \dots \; n_m!} \; a_1^{n_1} \; a_2^{n_2} \dots a_m^{n_m}$

Where $n_1, n_2, ..., n_m$ are all non-negative integers subject to the condition $n_1+n_2+n_3+...+n_m=n$

- The coefficient of $a_1^{n_1}a_2^{n_2}...a_m^{n_m}$ in the expansion of $(a_1+a_2+...+a_m)^n$ is $\frac{n!}{n_1!n_2!...n_m!}$
- Greatest coefficient of $(a_1+a_2+...+a_m)^n$ is $\frac{n!}{(q!)^{m-r}((q+1)!)^n}$, where q is the quotient k

on is the remainder when his divided by m.

• If n is a tre integer & $a_1, a_2, ..., a_m$ ec then coefficient of a^m in the expansion of $(a_1 + a_2 + a_3 x^2 + ... + a_m x^{m-1})^n$ is

 $\sum_{n_1! n_2! \dots n_m!} a_j^{n_1} a_j^{n_1} \dots a_m^{n_m}$

where n_1, n_2, \dots, n_m are all non negative antegers subject to the condition

 $n_1 + n_2 + n_3 + \dots + n_m = n$ $n_2 + 2n_3 + 3n_4 + \dots + (m-1)n_m = n_0$

- Number of distinct or dissimilar terms

 in the expansion (a+a2+...+am) n is n+m-1e
 m-1.
- Occur as the product of the binomial coefficients. Solution— i) If last term of the series learning the plus or minus sign be m, then divide the m by n if q be the qualient & rbe the remainder. Then replace a by 29 in given series & muttiplying both sides of the expression by x. ii) Differentiate both sides with a put a = 100-1 or i or etc according to the given series. iii) If product of two numericals (or equate of numericals) or three thumaricals (or cube of numericals) then differentiate twice or thrice.

For More PDFs Visit: LearningMantras.com

* Use of Integration: This method is only applied when the numericals occur as the denominator of the binomial coefficient.

Solution: If (1+0x) = Co+C12+...+Cn2h then antegrate both sides between suitable 19mits which gives required serves. (i) If sum contains co, c1, c2, ..., Cn are all tre signs, then integrate between 0 to 1. (ii) If sum contains alternate signs then between (-1 to 0). (iii) If sum contains odd coefficients (Co, C2, Ca) then between -1 to +1. (iv) If sum contains even coefficients (c1, C3,...) then subtracting(i) from (1) then deviding by & 2. (r) If in denominator of binomial coefficient product of two numericals then rollegrate two times first times taken limits between 0 to a h second time, take suitable timits. # If (1+2) h = C0+C1x+C2x+...+ Cn2h then

$$C_0C_1 + C_1C_2 + \cdots + C_{n-1}C_n = \frac{n!}{(n-1)!(n+1)!}$$

$$C_0C_2 + C_1C_3 + \dots + C_{n-2}C_n = \frac{2n!}{(n-2)!(n+2)!}$$

If $n > 6$, then $(\frac{n}{3})^n < n! < (\frac{h}{2})^n$

Binomial Theorem

any Rational Index.

Whatever be the value of n, (112) n=

$$1 + \frac{n}{1!} \frac{n(n-1)}{2!} \frac{n(n-1)(n-2)}{3!} x^3 + \dots + \frac{n(n-1)(n-2)\dots(n-r+1)}{r!} x^{r} + \dots + \infty$$
Where $|x| < 1$ i.e. $-1 < x < 1$.

1 If he not a tre integer, we should write (x4a) has $x^n \left(1 + \frac{a}{x}\right)^n$, if x > a and as $a^n \left(1 + \frac{a}{a}\right)^n$, if x < a.

* When a fs so small [|2| < 1] then $(1+2)^n \approx 1 + n2$.

*
$$(n_{r+1})^{th}$$
 term, $T_{r+1} = \frac{n(n-1)(n-2)...(n-r+1)}{r!} 2^{r}$

$$+ (1+x)^{-1} = 1 - x + x^{2} - x^{3} + x^{4} + \dots \infty$$

$$(1-x)^{-1} = 1 + x + x^{2} + x^{3} + x^{4} + \dots \infty$$

$$(1+x)^{-2} = 1 - 2x + 3x^{2} - 4x^{3} + \dots \infty$$

$$(1-x)^{-2} = 1 + 2x + 3x^{2} + 4x^{3} + \dots \infty$$